Answer Key - Sampler A
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15. For Department Use Only

Find the acute value of 8. Round the answer to the nearest degree.

2 2 %
(op.0 = 35 -0 ~23
—q(yo)(s)
(st = 12251600 ~625
T =000

- 00
gt = —10f

Value of 1
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16) Find the measure of each indicated angle. Justify your answer.

372

X ¥ \132°

Angle Measure Justification
x=_37° KMMLWW@MW

y=_48" Ma&mﬁa%mfé@
2=_95° wﬂg%ﬂawaw

16.  For Department Use Only
x | y | z

Value of 3
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17) A manufacturer produces tires that have an average thickness of 179 mm, with

a standard deviation of 0.9 mm. To be classified as “supreme quality”, tires
must have a thickness between 177.8 mm and 180.7 mm. What percent, to the

nearest whole number, of the total production can be rated as “supreme quality”
tires?
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18) Use a quadratic function to model and solve the given problem:

Alandscaper is desighing a 6 m by 8 m rectangualar garden that will then be
surrounded by a uniform border of crushed stone. She has enough crushed
stone to cover 72 m?. What is the width of the border if she uses all of the

crushd stone? _1_ T(-)‘/?Li _ 4g +72 }/Rdmz
braz ($+az) (6 rax) =
l Hy +16 X /72X 1’%‘1 f/JlU

Yx*p25z 18120 =0
yyT+285x 7270
Hix f77£’/3) =
Lf(Zf’?)(X’l) =0

x}{”
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Answer:
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Value of 3
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